
7

INSTALLATION INSTRUCTIONS

SW1210/
SW541210/SW541211/SW541212

SW1211/SW1212

Step 7

View from inside

1 1

1

Size:   800x800x1850mm
            900x900x1850mm
            1000x1000x1850mm



1 6

Step 5

Step 6

Fixed Panel Door Panel

Ensure wall profiles are plumb. 
Adjust enclosure to be square and level. 
Wheels should be adjusted to square the 
doors and ensure smooth running.

1

1 1

1 1

View from inside

3.2mm

1b

1a

1c

Screw M4x10



2

Box Contents:

[2]  1xInstallation
          Instruction.

[1]  4xHorizontal Rails.
      8xRound Screws M4x35.

[3]  
      4xScrews M3.5x8.
      

4xGlass Clamps.

[5]  8xWall Plugs.
      8xRound Screws M4x35.

[6]  6xScrews M4x8.
      6xScrew Cover Caps.

[9]  2xWall Posts.

[10]  2xFixed Panels.

[11]  2xDoor Panels.

[7]  
      4xScrews M3.5x8.
      4xScrew Cover Caps.
     
      

2xCorner Connectors.

[8]  4xWater Deflectors.
      

[4]  4xProfile Covers. 

2

5

Step 3

Step 4

View from inside

Screw M3.5x8

2c

1 1

2

2

1a

1b

View from inside

1

2

1



4

Installation Steps:
Step 1

Step 2

1

2

3

Please pay attention 
to the direction!

Screw M3.5x8

View from inside

3

Assembly Drawing

[1]  8xWall Plugs.
[2]  6xScrews M4x8.
[3]  8xRound Screws M4x35.
[4]  10xScrew Cover Caps.
[5]  2xWall Posts.
[6]  8xRound Screws M4x35.
[7]  4xScrews M3.5x8 
[8]  4xGlass Clamps.    
[9]  2xFixed Panels.

        

[10] 4xWater Deflectors.
[11] 2xDoor Panels.  
[12] 4xScrews M3.5x8.
[13] 2xTop Horizontal Rails.
[14] 4xTop Rollers.     
[15] 4xBottom Rollers.
[16] 2xCorner Connectors. 
[17] 2xBottom Horizontal Rails.
[18] 4xProfile Covers.
  

2

Round Screw 
M4x35

3

1

Glass Clamp Glass Clamp

Round Screw
M4x35

[2]

[3]

[4]

[5]

[6]

[12]

[11]

[10]

[8]

[17]

[15]

[13]
[1]

[7]

[9]

[14]

[16]

[18]

880-900mm(900)

980-1000mm(1000)

780-800mm(800)

880-900mm(900)

980-1000mm(1000)

780-800mm(800)


	页 1
	页 2
	页 3
	页 4

